
 
Suppose that: ∠𝑫𝑩𝑨 = 𝟐𝟎∘; ∠𝑫𝑨𝑩 = 𝟑𝟎∘; ∠𝑫𝑩𝑪 = 𝟒𝟎∘; ∠𝑫𝑨𝑪 = 𝟔𝟎∘ 

Prove that: ∠𝑫𝑬𝑪 = 𝟏𝟒𝟎∘ 

 

Proposed by Jafar Nikpour – Iran 
Solution by Eric - Dimitrie Cismaru – Romania  
We have ∢𝑨𝑩𝑪 = ∢𝑫𝑩𝑨 + ∢𝑫𝑩𝑪 = 𝟔𝟎∘, ∢𝑩𝑨𝑪 = ∢𝑫𝑨𝑩+ ∢𝑫𝑩𝑪 = 𝟗𝟎∘, so 𝚫𝑨𝑩𝑪 is a 

right triangle and ∢𝑩𝑪𝑨 = 𝟑𝟎∘. 

On the other hand, since 𝑬 is the midpoint of 𝑩𝑪,𝑨𝑬 is a median in a right triangle, so 

[𝑨𝑬] = [𝑩𝑬] = [𝑬𝑪], and since ∢𝑬𝑩𝑨 = 𝟔𝟎∘, 𝚫𝑩𝑬𝑨 is equilateral, so we have [𝑩𝑨] =

[𝑨𝑬]. The triangle 𝚫𝑨𝑬𝑪 is isosceles, so we have ∢𝑬𝑨𝑪 = ∢𝑬𝑪𝑨 = 𝟑𝟎∘. 

Therefore, 𝚫𝑫𝑨𝑩 ≡ 𝚫𝑫𝑨𝑬, which leads us to ∢𝑫𝑬𝑨 = ∢𝑫𝑩𝑨 = 𝟐𝟎∘, and since 

∢𝑨𝑬𝑪 = 𝟏𝟐𝟎∘, we obtain ∢𝑫𝑬𝑪 = 𝟏𝟒𝟎∘, the conclusion. 

 


